Graphing Homework

Biology – Mrs. Walker

Name _______________________________________________

Date __________

An insect known as a sawfly can be found in pine forests in North America. Sawfly larvae (the worm-like immature form of the bug) are the main source of food for shrews (a mouse-like animals) and some birds. Scientists studied 1-acre forest plots to determine the average number of sawfly larvae, shrews, and robins (birds). The data collected are shown in the table below. 

Data Table: 

Avg. number of sawfly larvae per acre
Avg. number of shrews per acre
Avg. number of robins per acre

1000
5
0

3000
10
1

6000
19
2

9000
24
3

12000
25
3

Using the information in the data table, construct a 2-line graph on the graph paper provided. Follow your standard graphing procedure learned in class. 

Questions:

1. What specifically happens to the number of shrews per acre, when the number of sawfly larvae goes from 1000/acre to 3000/acre?

2. Why do you think that the number of robins (birds) does not increase as rapidly as the number of shrews when sawfly larvae are present?

3. Using interpolation, determine what the average number of shrews per acre would be when the average number of sawfly larvae is 5000.

Answer ___________

4. Using extrapolation, determine what the average number of shrews per acre would be when the average number of sawfly larvae is 14000.

Answer ___________

